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1. All of the following is worker exposed to animal product except:  

 
a) Meat packer 
b) Butchers 
c) Cargo handler 
d) Farmer 
e) Pest control worker 
 
ans: e 
 

2. A community in town X are exposed to nuclear leakage from the nuclear plant nearby, what 
is this type of exposure? 
 
a) Stochastic  
b) Non-stochastic 
c) Time 

 
Ans: b 
 

3. Definition of threshold : 
4. Definition of latency : 
5. Definition of synergism : 

 
 

6. All the following are the importance of keeping health record for each employee EXCEPT? 
a) for detecting morbidity and/or mortality rates of a health problem 
b)  for the planning of industrial health program 
c) for factory's budget estimation for industrial health program evaluation 
d) for detection of the trends of health and/or disease 

 
ans : c 
 

7. Following are the cognitive reactions to stress at the workplace, EXCEPT? 
a) Less problem solving 
b) Diminished motivation 
c) Reduced learning ability 
d) Less problem solving 
e) Decreased attention  



 
Ans : b 
 

8. The duties of the Occupational nurse are all the following, EXCEPT? 
a) Assisting the physician in providing medical services, 
b) Assisting in supervising the work's environment 
c) Deciding the rehabilitation of the diseased workers 
d) Assisting the physician, in the health education of the workers 
e) keeping the medical records 

 
ans : c 
 
 

9. Type of prevention of periodic examination : 
 

Ans : secondary prevention 
 
 

10. For protecting workers against the biological hazard, the first line of defense is the? 
a) Administrative Controls 
b) Engineering Controls 
c) Personal Protective Equipment 
d) Adequate supervision 
e) Personal hygiene 

        
       Ans: b 
 
 
11. The pre-placement medical exam has the following objective, EXCEPT 

a) To make workers performing their job without hazards. 
b) To obtain a baseline of the health status of the workers 
c) To be used in case of compensation 
d) To placing the workers according to their ability  
e) To decrease the number of workers 

 

Ans : e 

12. All tissues are the most radio sensitive except :  
 

a) reproductive 
b) Hematopoietic 
c) Pancreas 



d) Skin 
e) Lens of the eye 

 
Ans : c 
 

13. One is an ionization radiation : 
 

           Ans : Radon in indoor airs 

 

14. Maximum radiation exposure limit in a single year is:  
 
     ans : 50 msv 
 

15. All of the following is actions focus on change in the organization culture except 
a) Dealing with aggressive customers 
b) Redistributing work among colleagues 
c) Providing clear job descriptions 

 
Ans: a 
 

16. All are penetrating radiation except:  
a) Neutron 
b) Proton 
c) Beta particles 
d) Gamma rays 
e) Uranium 

 
Ans : e 
 
 

17. All of the following is emotional reactions except: 
 
     ans : Decreased attention 
 
 
 

18. All of the following is stress related to work content except 
 
     ans : Interpersonal relationships 



 
 

19. All of the following is effect of stress on organization except : 
 
Ans : Increase work performance 
 
 

20. All of the following is worker exposed to animal product except : 
a) Meat packer 
b) Butchers 
c) Cargo handler 
d) Farmer 
e) Pest control worker 

 
Ans : e 
 

21. Sensorineural hearing loss is:  
 

Ans : Cochlear hair cell disruption 

 

22. All of the following is non auditory effects of noise except : 
a) increase heart rate 
b) Increase respiratory rate 
c) Decrease of sleep quality 
d) Increase in gastric mortality 
e) Decrease in work performance 

 

       Ans : d 

 

23. Disability is : 
 
Ans : Lack of ability to perform an activity in the optimum manner 
 
 

24. The target group in occupation medicine is : 
 
Ans : diseased workers 
 



 
25. All of the above are used for radiation treatment except: 

 
Ans : Using radiation vaccine 
 
 

26. Nitrogen nocrosis symptoms, except : 
 
Ans : Aggressivness 
 

27. Risk is function for all of the above except: 

 

Ans : Effect 

 

28. All the following are criteria for identification of occupational diseases. EXCEPT 
a) The causal relationship is existing between a specific disease and specific exposure in a 

workplace 
b) By removing or reducing a specific hazard from the working environment, elimination or 

reduction of specific disease development will be noted 
c) Morbidity of the disease is much higher among the exposed workers, compared to the 

rest of the population 
d)  The disease temporality should be exist 
e) With respect to the clinical and pathological presentation the occupational disease is 

often not matching that of non-occupational disease 
 
Ans : e 
 
 

29. For protecting workers against the biological hazard, the first line of defence is the : 
a) Administrative Controls 
b) Engineering Controls 
c) Personal Protective Equipment 
d) Adequate supervision 
e) Personal hygiene 

 
 
Ans: b 
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